Comply with ANSI/EIA RS-310-D . IEC297-2 . DIN41494;PART1 .

DIN41494; PART7. ETSI standard.

Exquisite design with precise dimension and craftsmanship:

Toughened glass front door with silk-screened flower pattern, door
border and steel rear door;

Blue Zinc Moungting Profiles.free of static;

Adjustable feet and heavy duty castors are available at the same time:
Several lockable cable entry on top cover and bottom panel with
adjustable sizes;

Optional plinth enables cabinet to stay in a fixed position, meeting
requirements of under-base cable entry/ventilation and prevention;
Efficient cabinet baying kit(patent);

Removable side panels, easy to install and maintain;

Fan Unit (Optional)

Plate door border

[
(
[
.,
[

EEE conEmE W
1 -

——-—.l—

)

Adjustable mounting profile and
mounting angle

SPCC cold rolled steel:
Thickness: mounting profile 2.0mm, mounting angle

1.5mm, others 1.2mm .

Static loading: 800KG (with adjustable feet) .



cab

NiNg experts

@ 8)

SRRy

SRR

o

Side

| 470

S - 1 DETAIL I

T J ] SCALE 6:1

|
; !
o 1 B
: : = DETAIL |
) b B J‘ J ] O S_CA_LE 6:1
.| gl T——3 1 i Ventilation Rate 71%
— = 450~
W 465 AN e DETAIL ||
SCALE 5:1
Top A-A Section Mounting dimension

1 Top cover 1 Piece SPCC Cold rolled steel t1.2 Powder coated =5
2 Mounting profile 4 Piece SPCC Cold rolled steel t2.0 Blue zinc =
3 Mounting angle 6 Piece SPCC Cold rolled steel t1.5 Powder coated 4pcs for lower 32U
4 Small round lock 2 Piece - Nickel coated With 4 keys
5 Toughened glass front door 1 Piece Toughened glass/ SPCC t1.2 Powder coated
6 2” heavy duty castor 4 Piece - =
7 Frame 2 Piece SPCC cold rolled steel t1.2 Powder coated
8 Side panel 2 Piece SPCC cold rolled steel t1.2 Powder coated
9 Steel rear door 1 Piece SPCC cold rolled steel t1.2 Powder coated
10 Bottom panel 1 Piece SPCC cold rolled steel t1.2 Powder coated
11 M6 B-head screw 20 Piece Steel Color Zinc 40pcs for over 32U
12 M6 square nut 20 Piece Steel Color Zinc 40pcs for over 32U
13 Allen wrench 1 Piece Steel Black =2
14 M12 adjustable feet 4 Piece = s




(000000 0R000R0 000 0N DEANN 0 ANNN KoA 00K PONOA0 (H0R00 K00 K06 CANEaA B0 000 0 000 0N 0RO BENED 0 600 00 A DUA ONCOAC0!

SOGRIRRRGRRRR

Front(without front door) Front Side
; 470
1 [ 1 S R 2 DETAIL Il
[ = { SCALE 6:1
PRI
I f
i = =
[m} ! il ,
! £ - DETAIL |
| 7}' ; Lo 1 SCALE 6:1
. | J i i I Ventilation Rate 71%
L = | —— 450 —-
w I 465 L -
: e DETAIL I
SCALE 5:1
Top A-A Section Mounting dimension
1 Top cover 1 Piece SPCC Cold rolled steel t1.2 Powder coated ==
2 Mounting profile 4 Piece SPCC Cold rolled steel t2.0 Blue zinc ==
3 Mounting angle 6 Piece SPCC Cold rolled steel t1.5 Powder coated 4pcs for lower 32U
4 Cable management slot 2 Piece SPCC Cold rolled steel t0.8 Powder coated ==
5 Small round lock 2 Piece e Nickel coated With 4 keys
6 Toughened glass front door 1 Piece Toughened glass/ SPCC t1.2 Powder coated -
7 2” heavy duty castor 4 Piece == - -
8 Frame 2 Piece SPCC cold rolled steel t1.2 Powder coated ==
9 Side panel 2 Piece SPCC cold rolled steel t1.2 Powder coated ==
10 Steel rear door 1 Piece SPCC cold rolled steel t1.2 Powder coated =
11 Bottom panel 1 Piece SPCC cold rolled steel t1.2 Powder coated ===
12 Spacer 12 Piece SPCC cold rolled steel t2.0 Powder coated 8pcs for lower 32U
13 M6 B-head screw 20 Piece Steel Color Zinc 40pcs for over 32U
14 M6 square nut 20 Piece Steel Color Zinc 40pcs for over 32U
15 Allen wrench 1 Piece Steel Black ---
16 M12 Adjustable feet 4 Piece - s




